



Available online at [www.qu.edu.iq/journalcm](http://www.qu.edu.iq/journalcm)  
 JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS  
 ISSN:2521-3504(online) ISSN:2074-0204(print)



# A Novel Category of Analytic Univalent Functions that is characterized by an Integral Operator

**Mustafa A. Sabri\***

Department of Mathematics, College of Education, Mustansiriyah University, Baghdad, Iraq, [mustafasabri.edbs@uomustansiriyah.edu.iq](mailto:mustafasabri.edbs@uomustansiriyah.edu.iq)

## ARTICLE INFO

### Article history:

Received: 17 /08/2025

Rrevised form: 23 /09/2025

Accepted : 25 /09/2025

Available online: 30/09/2025

### Keywords:

Analytic function, Univalent function, Coefficient inequality, Distortion bound

## ABSTRACT

This paper presents a novel class of analytic univalent functions, which are defined by an integral operator in the open unit disk  $U = \{z \in \mathbb{C}: |z| < 1\}$ . Various geometric properties of these functions, including coefficient inequality, growth and distortion bounds, and convolution properties, are investigated.

MSC..

<https://doi.org/10.29304/jqcm.2025.17.32450>

## 1. Introduction

Let  $\mathcal{A}$  be the class of all functions of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic and univalent in the open unit disk  $U$ .

Let  $\mathcal{N}$  be symbolized the subclass of  $\mathcal{A}$  containing of functions of the form:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n, \quad (a_n \geq 0). \quad (2)$$

\*Corresponding author: Mustafa A. Sabri

Email addresses: [mustafasabri.edbs@uomustansiriyah.edu.iq](mailto:mustafasabri.edbs@uomustansiriyah.edu.iq)

Communicated by 'sub etitor'

For functions  $f(z) \in \mathcal{N}$ , given by (2), and  $g(z) \in \mathcal{N}$  given by

$$g(z) = z - \sum_{n=2}^{\infty} b_n z^n \quad (z \in U; b_n \geq 0), \quad (3)$$

the convolution (or Hadamard product) of  $f(z)$  and  $g(z)$  is defined by

$$(f * g)(z) = z - \sum_{n=2}^{\infty} a_n b_n z^n = (g * f)(z). \quad (4)$$

A function  $f(z) \in \mathcal{A}$  is called univalent starlike of order  $\alpha$  ( $0 \leq \alpha < 1$ ), if  $f(z)$  satisfies the condition:

$$\operatorname{Re} \left( \frac{zf'(z)}{f(z)} \right) > \alpha, \quad (z \in U). \quad (5)$$

Further, a function  $f(z) \in \mathcal{A}$  is called univalent convex of order  $\alpha$  ( $0 \leq \alpha < 1$ ), if  $f(z)$  satisfies the condition:

$$\operatorname{Re} \left( 1 + \frac{zf''(z)}{f'(z)} \right) > \alpha, \quad (z \in U). \quad (6)$$

We denoted by  $S^*(\alpha)$  and  $C^*(\alpha)$  the classes of univalent starlike functions of order  $\alpha$  and univalent convex functions of order  $\alpha$ , respectively.

Patel [5] defined an Integral operator  $\mathcal{J}_{\nu, \delta}^{\eta}$  on  $\mathcal{A}$  as follows:

Let  $\eta \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ ,  $\delta \geq 0$  with  $\nu + \delta > 0$  and  $\nu$  a real number,

then for  $f \in \mathcal{A}$ , we define the operator  $\mathcal{J}_{\nu, \delta}^{\eta}$  by

$$\mathcal{J}_{\nu, \delta}^0 f(z) = f(z)$$

$$\mathcal{J}_{\nu, \delta}^1 f(z) = \left( \frac{\nu + \delta}{\delta} \right) z^{1 - \left( \frac{\nu + \delta}{\delta} \right)} \int_0^z t^{\left( \frac{\nu + \delta}{\delta} \right) - 2} f(t) dt, z \in U.$$

$$\mathcal{J}_{\nu, \delta}^2 f(z) = \left( \frac{\nu + \delta}{\delta} \right) z^{1 - \left( \frac{\nu + \delta}{\delta} \right)} \int_0^z t^{\left( \frac{\nu + \delta}{\delta} \right) - 2} \mathcal{J}_{\nu, \delta}^1 f(t) dt, z \in U.$$

$\vdots$

$$\mathcal{J}_{\nu, \delta}^{\eta} f(z) = \left( \frac{\nu + \delta}{\delta} \right) z^{1 - \left( \frac{\nu + \delta}{\delta} \right)} \int_0^z t^{\left( \frac{\nu + \delta}{\delta} \right) - 2} \mathcal{J}_{\nu, \delta}^{\eta-1} f(t) dt, z \in U.$$

$$= \mathcal{J}_{\nu, \delta}^1 \left( \frac{z}{1-z} \right) * \mathcal{J}_{\nu, \delta}^1 \left( \frac{z}{1-z} \right) * \dots * \mathcal{J}_{\nu, \delta}^1 \left( \frac{z}{1-z} \right) * f(z).$$

We observe that  $\mathcal{J}_{\nu, \delta}^{\eta}: \mathcal{A} \rightarrow \mathcal{A}$  is an Integral operator and for  $f$  given by (1.1), we have

$$\mathcal{J}_{\nu, \delta}^{\eta} f(z) = z + \sum_{n=2}^{\infty} \left( \frac{\nu + \delta}{\nu + n\delta} \right)^{\eta} a_n z^n. \quad (7)$$

It follows from (7) that  $\mathcal{J}_{\nu, 0}^{\eta} f(z) = f(z)$ .

We note that

- 1)  $J_{1,1}^\eta f(z) = T^\eta f(z)$  (See [5, 7]).
- 2)  $J_{1-\delta,1}^\eta f(z) = T_\delta^\eta f(z), \delta > 0$  (See [5]).
- 3)  $J_{\nu,1}^\eta f(z) = T_\nu^\eta f(z), \nu > 0$  (See [5]).

Now, by using an Integral operator  $J_{\nu,\delta}^\eta f(z)$ , we have the following:

**Definition 1** A function  $f(z) \in \mathcal{N}$  is said to be in the class  $\mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$  if it satisfies the following condition:

$$\left| \frac{\lambda z^2 \left( J_{\nu,\delta}^\eta f(z) \right)'' + \tau z \left( J_{\nu,\delta}^\eta f(z) \right)'}{(1-\lambda)(1+\tau) \left( J_{\nu,\delta}^\eta f(z) \right)} \right| < 1,$$

Where  $0 \leq \lambda < 1$ ,  $0 \leq \tau < 1, \nu, \eta > 0$ ,  $\delta \in \mathbb{N}$  and  $z \in U$ .

Some of the following properties have been studied for other classes in [1, 2, 3, 4, 6, 8, and 9].

## 2. Coefficient Inequality

The following theorem gives a necessary and sufficient condition for a function  $f(z)$  to be in class  $\mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$ .

**Theorem 1** A function  $f(z) \in \mathcal{N}$  is in the class  $\mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$  if and only if

$$\sum_{n=2}^{\infty} n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda] \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta z^n \leq 1 + \lambda(1-\tau), \quad (8)$$

Where  $0 \leq \lambda < 1$ ,  $0 \leq \tau < 1, \eta > 0$ ,  $\delta \in \mathbb{N}$  and  $z \in U$ .

The result is sharp for the function  $f(z)$  given by

$$g(z) = z - \frac{1 + \lambda(1-\tau)(\nu+\delta)^\eta}{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](\nu+n\delta)^\eta} z^n, \quad (n \geq 2) \quad (9)$$

**Proof.** Assume that inequality (8) holds and  $|z| = 1$ . Then we get

$$\begin{aligned} & \left| \lambda z^2 \left( J_{\nu,\delta}^\eta f(z) \right)'' + \tau z \left( J_{\nu,\delta}^\eta f(z) \right)' \right| - \left| (1-\lambda)(1+\tau) \left( J_{\nu,\delta}^\eta f(z) \right) \right| \\ &= \left| \tau z + \sum_{n=2}^{\infty} n(\lambda(n-1)+\tau) \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta a_n z^n \right| - \left| (1-\lambda)(1+\tau) + \sum_{n=2}^{\infty} (1-\lambda)(1+\tau) \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta a_n z^n \right| \\ &\leq \sum_{n=2}^{\infty} n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda] \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta a_n z^n - (1+\lambda(1-\tau)) \leq 0, \end{aligned}$$

By hypothesis. Hence by maximum modulus principle, we get  $g(z) \in \mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$

Conversely, let  $f(z) \in \mathcal{AN}(\lambda, \tau, n, \rho)$ . Then

$$\left| \frac{\lambda z^2 \left( J_{\nu,\delta}^\eta f(z) \right)'' + \tau z \left( J_{\nu,\delta}^\eta f(z) \right)'}{(1-\lambda)(1+\tau) \left( J_{\nu,\delta}^\eta f(z) \right)} \right| = \left| \frac{\tau z + \sum_{n=2}^{\infty} n(\lambda(n-1)+\tau) \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta a_n z^n}{(1-\lambda)(1+\tau) + \sum_{n=2}^{\infty} (1-\lambda)(1+\tau) \left( \frac{\nu+\delta}{\nu+n\delta} \right)^\eta a_n z^n} \right| < 1$$

Since  $R(z) \leq |z|$  for all  $z(z \in U)$ , then we obtain

$$Re \left( \frac{\tau z + \sum_{n=2}^{\infty} n(\lambda(n-1) + \tau) \left( \frac{v+\delta}{v+n\delta} \right)^{\eta} a_n z^n}{(1-\lambda)(1+\tau) + \sum_{n=2}^{\infty} (1-\lambda)(1+\tau) \left( \frac{v+\delta}{v+n\delta} \right)^{\eta} a_n z^n} \right) < 1 \quad (10)$$

Now, choosing the values of  $z$  on the real axis and let  $z \rightarrow 1$  from the left through real values, the inequality (10) immediately yields the required condition in (8). Finally, it is observed that the result is sharp for the function is given by (9).

**Corollary 1** If  $g(z) \in \mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$ , then

$$a_n \leq \frac{1 + \lambda(1-\tau)(\nu + \delta)^{\eta}}{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](\nu + n\delta)^{\eta}} \quad , \quad (n \geq 2) \quad (11)$$

### 3. Growth and Distortion Bounds

Next, we prove the growth and distortion bounds for an integral operator  $J_{\nu, \delta}^{\eta} f(z)$ .

**Theorem 2** If  $f(z) \in \mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$ , then

$$r - \frac{(1-\tau)}{2(2-\tau)} r^2 \leq |J_{\nu, \delta}^{\eta} f(z)| \leq r + \frac{(1-\tau)}{2(2-\tau)} r^2, \quad (0 < |z| = r < 1) \quad (12)$$

The result is sharp for the function  $f(s)$  is given by

$$f(z) = z - \frac{1 + \lambda(1-\tau)(\nu + \delta)^{\eta}}{2[\lambda(1+\tau)][1+\tau-\lambda(1-\tau)](\nu + 2\delta)^{\eta}} z^2 \quad (13)$$

**Proof.** Let  $f(z) \in \mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$ , then by Theorem 1

$$\begin{aligned} 2[\lambda(1+\tau)][1+\tau-\lambda(1-\tau)] \left( \frac{\nu + \delta}{\nu + 2\delta} \right)^{\eta} \sum_{n=2}^{\infty} a_n &\leq \sum_{n=2}^{\infty} n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda] \left( \frac{\nu + \delta}{\nu + n\delta} \right)^{\eta} z_n \\ &\leq 1 + \lambda(1-\tau) \sum_{n=2}^{\infty} a_n \\ &\leq \frac{1 + \lambda(1-\tau)(\nu + \delta)^{\eta}}{2[\lambda(1+\tau)][1+\tau-\lambda(1-\tau)](\nu + 2\delta)^{\eta}} \end{aligned} \quad (14)$$

Hence,

$$\begin{aligned} |J_{\nu, \delta}^{\eta} f(z)| &\leq |z| + \sum_{n=2}^{\infty} n \left( \frac{\nu + \delta}{\nu + n\delta} \right)^{\eta} a_n |z|^n \leq r + 2 \left( \frac{\nu + \delta}{\nu + 2\delta} \right)^{\eta} r^2 \sum_{n=2}^{\infty} a_n \\ &\leq r + \frac{(1-\tau)}{2(2-\tau)} r^2 \end{aligned} \quad (15)$$

Similarly

$$\begin{aligned} |J_{\nu, \delta}^{\eta} f(z)| &\geq |z| - \sum_{n=2}^{\infty} n \left( \frac{\nu + \delta}{\nu + n\delta} \right)^{\eta} a_n |z|^n \geq r - 2 \left( \frac{\nu + \delta}{\nu + 2\delta} \right)^{\eta} r^2 \sum_{n=2}^{\infty} a_n \\ &\geq r - \frac{(1-\tau)}{2(2-\tau)} r^2 \end{aligned} \quad (16)$$

By (15) and (16), we get (12). Thus, the proof is done

**Theorem 3.** If  $f(z) \in \mathcal{AN}(\lambda, \tau, \eta, \nu, \delta)$ , then

$$1 - \frac{(1-\tau)}{(2-\tau)}r \leq \left| \left( \mathcal{J}_{v,\delta}^\eta f(z) \right)' \right| \leq 1 + \frac{(1-\tau)}{(2-\tau)}r, (0 < |z| = r < 1) \quad (17)$$

The result is sharp for the function  $f(z)$  is given by (13)

**Proof.** Let  $f(z) \in \mathcal{AN}(\lambda, \tau, \eta, v, \delta)$ , then by Theorem 1

$$\begin{aligned} [\lambda(1+\tau)][1+\tau-\lambda(1-\tau)] \left( \frac{v+\delta}{v+2\delta} \right)^\eta \sum_{n=2}^{\infty} n a_n &\leq \sum_{n=2}^{\infty} n [\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda] \left( \frac{v+\delta}{v+n\delta} \right)^\eta a_n \\ &\leq 1 + \lambda(1-\tau) \sum_{n=2}^{\infty} n a_n \leq \frac{(1-\tau)(4+\rho^2)^2}{2(2-\tau)(\rho^2+1)^2} \end{aligned} \quad (18)$$

Thus

$$\begin{aligned} \left| \left( \mathcal{J}_{v,\delta}^\eta f(z) \right)' \right| &\leq 1 + \sum_{n=2}^{\infty} \left( \frac{v+\delta}{v+n\delta} \right)^\eta n a_n |z|^{n-1} \leq 1 + \left( \frac{v+\delta}{v+2\delta} \right)^\eta r \sum_{n=2}^{\infty} n a_n \\ &\leq 1 + \frac{(1-\tau)}{(2-\tau)}r \end{aligned} \quad (19)$$

Similarly

$$\begin{aligned} \left| \left( \mathcal{J}_{v,\delta}^\eta f(z) \right)' \right| &\geq 1 - \sum_{n=2}^{\infty} \left( \frac{v+\delta}{v+n\delta} \right)^\eta n a_n |z|^{n-1} \geq 1 - \left( \frac{v+\delta}{v+2\delta} \right)^\eta r \sum_{n=2}^{\infty} n a_n \\ &\geq 1 - \frac{(1-\tau)}{(2-\tau)}r \end{aligned} \quad (20)$$

From (19) and (20), we get (17). Thus, the proof is complete.

#### 4. Convolution Properties

**Theorem 4** Let  $f_i$ , ( $i = 1, 2$ ), be a function in the class  $\mathcal{AN}(\lambda, \tau, \eta, v, \delta)$  and defined by

$$f_i = z - \sum_{n=2}^{\infty} a_{n,i} z^n, \quad (a_{n,i} \geq 0, \quad i = 1, 2) \quad (21)$$

Then  $f_1 * f_2 \in \mathcal{AN}(\beta, \tau, \eta, v, \delta)$ , where

$$\beta \leq \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta - [1+\tau-\lambda-\tau\lambda][1+\beta(1-\tau)](v+\delta)^\eta}{(n-1+\tau)[1+\beta(1-\tau)](v+\delta)^\eta - n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}$$

**Proof.** We have to find the largest  $\mu$  such that

$$\sum_{n=2}^{\infty} \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} a_{n,1} a_{n,2} \leq 1$$

Since  $k_j \in \mathcal{AN}(\lambda, \tau, n, \rho)$ , ( $i = 1, 2$ ), then

$$\sum_{n=2}^{\infty} \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} a_{n,i} \leq 1, \quad (i = 1, 2) \quad (22)$$

By Cauchy – Schwarz inequality, we get

$$\sum_{n=2}^{\infty} \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \sqrt{a_{n,1}a_{n,2}} \leq 1 \quad (23)$$

We want to show that

$$\frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} a_{n,1}a_{n,2} \leq \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \sqrt{a_{n,1}a_{n,2}}$$

This equivalent to

$$\sqrt{a_{n,1}a_{n,2}} \leq \frac{(1+\mu)[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda]}{(1+\beta)[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda]} \quad (24)$$

From (24), we get

$$\sqrt{a_{n,1}a_{n,2}} \leq \frac{1+\beta(1-\tau)(v+\delta)^\eta}{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}$$

Therefore, it is sufficient to show that

$$\frac{1+\beta(1-\tau)(v+\delta)^\eta}{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta} \leq \frac{(1+\mu)[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda]}{(1+\beta)[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda]},$$

Which implies to

$$\beta \leq \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta - [1+\tau-\lambda-\tau\lambda][1+\beta(1-\tau)](v+\delta)^\eta}{(n-1+\tau)[1+\beta(1-\tau)](v+\delta)^\eta - n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta},$$

**Theorem 5** Let the function  $f_i$  ( $i = 1, 2$ ) defined by (22) be in the class  $\mathcal{AN}(\lambda, \tau, \eta, v, \delta)$

Then the function  $f$  defined by

$$f(z) = z - \sum_{n=2}^{\infty} (a_{n,1}^2 + a_{n,2}^2) z^n, \quad (25)$$

belong to the class  $\mathcal{AN}(\epsilon, \tau, n, \rho)$ , where

$$\epsilon \leq \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta - [1+\tau-\lambda-\tau\lambda][1+\beta(1-\tau)](v+\delta)^\eta}{(n-1+\tau)[1+\beta(1-\tau)](v+\delta)^\eta - n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}$$

**Proof.** We must find the largest  $\epsilon$  such that

$$\sum_{n=2}^{\infty} \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} (a_{n,1}^2 + a_{n,2}^2) \leq 1$$

Since  $f_i \in \mathcal{AN}(\lambda, \tau, \eta, v, \delta)$ , ( $i = 1, 2$ ), we get

$$\begin{aligned} & \sum_{n=2}^{\infty} \left( \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \right)^2 a_{n,1}^2 \\ & \leq \sum_{n=2}^{\infty} \left( \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} a_{n,1} \right)^2 \leq 1 \end{aligned} \quad (26)$$

And

$$\begin{aligned} & \sum_{n=2}^{\infty} \left( \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \right)^2 a_{n,2}^2 \\ & \leq \sum_{n=2}^{\infty} \left( \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} a_{n,2} \right)^2 \leq 1 \end{aligned} \quad (27)$$

Combining the inequalities (26) and (27), gives

$$\sum_{n=2}^{\infty} \frac{1}{2} \left( \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \right)^2 (a_{n,1}^2 + a_{n,2}^2) \leq 1 \quad (28)$$

But,  $k \in \mathcal{AN}(\epsilon, \tau, n, \rho)$  if and only if

$$\sum_{n=2}^{\infty} \frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} (a_{n,1}^2 + a_{n,2}^2) \leq 1 \quad (29)$$

The inequality (29) will be satisfied if

$$\frac{n[\lambda(n-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta} \leq \frac{n^2[\lambda(n^2-1+\tau)][1+\tau-\epsilon-\tau\epsilon](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta}$$

So that

$$\epsilon \leq \frac{n[\lambda(n-1+\tau)][1+\tau-\lambda-\tau\lambda](v+n\delta)^\eta}{1+\beta(1-\tau)(v+\delta)^\eta}$$

## References

1. W. G. Atshan an N. A. J. Al-Ziadi, on a new class of meromorphic multivalent functions defined by fractional differ-integral operator, *Journal of Kufa Mathematics and Computer*, 5 (1) (2018), 12-20.
2. D. Bansal and J. Sokol, Geometric properties of Mathieu-type power series inside unit disk, *J. Math. Ineq.* 13(4) (2019), 911-918.
3. K. A. Jassim, some geometric properties of analytic functions associated with hypergeometric functions, *Iraqi Journal of Science*, 57(1C) (2016), 705-712.
4. D. Liu, S. Araci an B. Khan, A subclass of janowski starlike functions involving Mathieu-type series, *symmetry*, 14(1) (2022), 2.
5. Patel, J. Inclusion relations and convolution properties of certain subclasses of analytic functions defined by generalized Sălăgean operator. *Bull. Belg. Math. Soc.* 2008, 15, 33–47.
6. A. m. Ramadhan an N. A. J. Al-Ziadi, New Class of Multivalent Functions with Negative Coefficients, *Earthline Journal of Mathematical Sciences*, 10(2) (2022), 271-288.
7. Swamy, S.R. Inclusion properties of certain subclasses of analytic functions. *Inter. Math. Forum* 2012, 7, 1751–1766.
8. Z. Tomovski, New integral and series representations of the generalized Mathieu series, *Appl. Anal. Discrete Math.* 2(2) (2008), 205-212.
9. A. K. Wanas and H. M. Ahsoni, Some geometric properties for a class of analytic functions defined by beta negative binomial distribution series, *Earthline Journal of Mathematical Sciences*, 9(1) (2022), 105-116.